Inheritance and
DNA

Knowledge Organiser
chromosome
nucleus
Genetic Modification
. 1
Susceptible to : T
- O
Vector
- e o e
Inserlion of dispiss
® -
ﬂmnll!lﬂl;
and disease tolerance
Variation

Variation maybe be due to

Sex Determination

mum
X X
X |1 XX KK female
=
=
Y || XY XY male

Females carry two ¥ chromosomes.
Males carry one X and one ¥ chromosome.

Probability
There are four possible
combinations of gamates

male genotype

that offspring can inharit.

One of thess four has the genotype aa - that's f, 25%
or 0.25.

The recessive phenotype has a ratio of 1:3 because only one
combination will show the phenotype while the other thres
will not.
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at ic Adaptation®

The process which enables organisms to adjust to
their environment in order to ensure survival.

fur to keep
warm




